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M FHEER K 1t MR/ NILORTHE D FEERE T

it 213, @213 1R, FTHEEMER CH,  90mol%, #IFPRRE - 10°C, FREEHRE : 10°C
ftE214, HE214  TeHEE, FEBMERCH, : 90mols, MR :5°C.  FEHEE:5C
ft3 215 @215 1R FEsEA CH,  omol%, HHRE :0°C,  JEEENAR : 0°C

HE213  1tHE FEBSMAMCH, : omol%, MR : 10°C. FEIRRHEIE - 107C

Fe R AT | Hhch | FeE | EEEE | BEE Swih | BiESoowty | BHEE0wts | BEEAOw | FEEF50wi
Tosiss VRE | EE| RS | pEts | seasen | BESS | seaen | BRSE | Raaen | BAYA ] Rekuen | R | LR
{mofh) (°c) | (T {(h) ey | ke/m) |0 | ke/h) [ °€) | (ke/h) | °C) | (kg/h) [ (°C) | (kg/h)
90 10 |10 10 o 317| -3l 418] -4 e18] -g| 94| -s] 1007
15 o o218| -3 284] -4 420] -] 538] -8 682

20 ol 165 -4l 214] -4l 321 -8 _410] -7| 516

3.0 2| 115| -4 148] -5| 219] -s| 282 -7 355

40 -3 871 -4 115 -5 170] -8 218] -s 272

50 -3 73] -4 95| -5 1410 -of 1780 -g| 224

6.0 -3 63| -4 82| -5 120] -sl 153] -of 190

70 -3 56| -5 721 -s| 106] -10] 133] -9| 168

80 -4 49 -5 65 -7 94| -10 120 -10 149

HE214 R, FTHEMFMERCH, : 90mol%, MR : 5°C, FIEEHER :5°C

iEe e | taeh | Fei | EEE | BAEISws | BiEEoowts | BEEI0wts | BEEOW | HEES0ws
Ty | RE | R | B ek mewn | B | Rasen | B | 2w | BRIA | sekaen | BIIS | RERen
{mol%) ey e {h) o) | em) [0 ] G/h) [ ) (ka/h) [ (€Y | e [ (PC) | Ckgrh)
90 5 5 10 -4 268 -5 359 -8 53.7| -10 69.2] -12 85.8
15 -4 183 -5 244l -8 36.4] -11 46.4| -12 579

20 -4 140 -5 186] -6 278{ -1 353 -12 437

3.0 —4 97| -5 129 -6 192] -11 242| -13 299

40 -4 75| -5 100 -8 149] -12 185| -13 23.0

5.0 -5 61| -5 83| -7 1214 -12 15.2| -14 18.7

8.0 -5 53] -5 71 -7 104 -12 13.0] -14 160

70 -5 47| -s 62| -8 9.1} -12 115] -14 140

8.0 -5 42| -s 56] -8 8.2| -13 102| -14 12.6

8215 1t#E, FIEWMARCH, : 90molh, MFRE - 0°C. FEBER : 0°C

Feimps Rl | Hech | e | EEGE | BEEI5ws | BiEEcowts | BIEEI0wts | TEREA0wts | TEIEES0wtE
Tasveg | RE | R B | M| san | M| s | BB | Reun | B | REin | IS REmh
(mel) | (°CY | (°C) (h) eyt ket {0 | kg/h) [P0 | {kg/h) 1 (°C) | Ckg/ny L(°C) | (kg/h)
80 0 0 1.0 -11 19.4| -10 282{ -1 436 14 575| -16 71.7
15 -11 13.1] -10 19.1] -11 295| -14 388| -15 484

20 -11 1001 —11 143 -11 225 -14 295 -18 36.7

340 -11 691 —1i 98| -12 15.2| -15 200 17 248

40 -11 530 -11 78] -13 11.6] -15 154| -17 150

5.0 -11 44| -11 6.2| -13 95| -15 1261 <17 15.6

6.0 -11 37| 12 52] -14 8.0| -1s 10.6| -17 13.3

7.0 -11 33| -12 46| -14 70| -16 93| -18 11.5

8.0 -1 3.01 -13 40| -14 83| -16 83| -18 10.2
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